8/22/25, 10:51 AM

‘ Ethos Mechanical Inc.

Site 645 Comp 18 RR 2

Lac La Biche, AB TOA 2C2, CA

ap@ethosmechanical.ca

(780) 798-2691
Bill To
ETHOS MECHANICAL
P:
Service Order Terms Due Date
7888 COD 71212025

Item Description

Complaint: CVIP Repair as required.

Cause: Customer request

5 Labor

Correction:
| Chassis / Chassis / REPLACED AXLE 1 LH, AXLE 2 RH SLACKS,
i REPLACED AXLE 1 RH S-CAM AND TUBE,
! REPLACED AXLE 1 LH LIMITING CHAIN CLEVIS,
REPLACED AXLE 1 AND 2 RH WHEEL SEALS,
: REPLACED AXLE 1 RH, AXLE 2 RH HUBCAP GASKETS,
REPLACED AXLE 2 LH HUBCAP,
REPLACED AXLE 2 RH SHOES,
; REPLACED AXLE 1 LH DRUM,
; REPLACED AXLE 1 AND 2 SHOCKS
REPLACED AXLE 1 RH INNER VALVE STEM,
REPLACED AXLE 2 LH DUST COVER CLAMP,
; REPLACED 5TH WHEEL ASSEMBLY - Completed: 6/18/2025
!
i Parts WHEEL SEAL TRAILER 2110
Parts HUB CAP GASKET
Parts 2" AMBER LED MARKER LIGHT
Parts 2" RED LED MARKER LIGHT
Parts 6"-10SPL X 6" AUTO SLACK ADJUSTER MERITOR 5/8" CLEVIS
Parts 4707 BRAKE SHOE Q+ 16.5™ X 7™
Parts BRAKE DRUM CAST 16.5 X 7
Parts 75W80 GEAR OIL W/ LS BULK
Parts S CAM TUBE 1-1/2" X 21" SOLID
Parts 1-1/2" ID x 6" OD x 1/16" D WASHER EATON
Parts 1-1/2" 1D X 1/4" THICK S CAM SEAL
Parts 1-1/2" ID X 1/16" THICK SNAP RING
Parts 1-1/2" ID X 2-1/4" X 1/16" THICK SHIM
Parts 3-3/4" VALVE STEM STEEL RIM
Parts MARATHON SHOCK COMP: 13-1/16"" EXT: 20-29/64""
Parts LARGE STEER/TRAILER HUBCAP

Invoices 7 A aTu-b' 2

Invoice: 25895
Date: 7/2/2025

Remit Payment To
Site 645 Comp 18 RR 2

Site 645 Comp 18 RR 2
Lac La Biche, AB TOA 2C2, CA

Authorizer Customer PO Unit #
Jeep
Rate Amount

Quantity

12.00000 $145.00 $1,740.00

2.00000 $75.82977 $151.66

2.00000  $1.15992 $2.32
100000  $5.71261 $5.71
2.00000 $4.71218 $9.42

2.00000 $85.00 $170.00
2.00000  $94.2435 $188.49
1.00000  $130.491 $130.49
2.00000 $12.47929 $24.96
1.00000 $43.88847 $43.89

1.00000  $4.46569 $4.47
1.00000  $3.30577 $3.31
1.00000  $0.86994 $0.87
5.00000  $1.15992 $5.80
1.00000  $2.53733 $2.54
2.00000 $71.37858 $142.76
1.00000 $6.99 $6.99

https://app.fullbay.com/office/workorder/printRepairOrderinvoice.html?repairOrderlnvoiceld=179865783

13



8/22/25, 10:51 AM Invoices

[}

Item Description
?arts 5" DUST S;IE|LD CLAMP ”
Parts 7/16" DOUBLE LINK CLEVIS
Parts 1/2" AIR TO 3/8" MALE PIPE BRASS CONNECTOR
Parts MARATHON SHOCK COMP: 13-1/16™ EXT: 20-29/64""
Parts 1/2" EMERGENCY GLADHAND RED

4 Parts 5X1/4X7/8 PWR PLUS DC WHEEL

| Parts 1/4"™" X 3/4" HEX HEAD BOLT GRADE 8 NC ZINC
Parts 5/16X1-1/2 HEX HEAD BOLT GRADE 8 NC ZINC
Parts 5/16™ LOCK NUT
Parts 1/4™ LOCK NUT
Parts TOP PLATE 5TH WHEEL 351

Complaint: CVIP 2 AXLE

Cause: Customer request

Labor Correction:
Chassis / Chassis / INSPECT UNIT - Completed: 6/12/2025

! Complaint: REPLACE WELD IN KING PIN
Cause: Customer request
(Inspection)

Labor Correction:

Chassis / Frame / - CUT GUSSET WELDED TO KINGPIN
- GOUGED OUT KINGPIN
- GRIND / PREP AREA
- WELD IN NEW KINGPIN
- RE WELD IN GUSSET
- RE INSTALL AIR LINES

‘ - REPLACE AIR LINE FITTING

: - WELD IN BOLT TO BOLT DOWN FUSE BOX - Completed: 6/18/2025

Parts STH WHEEL KING PIN HITCH 3/8" PLATE

Unit: Jeep VIN: 20PLH027254BD11324
2004 Peerless Limited Jeep
Chassis: 1 Kilometers

https://app.fullbay.com/office/workorder/printRepairOrderinvoice.html?repairOrderinvoiceld=17965783

Quantity

Rate
1100000 $16.38387
1.00000 $12.13566
1.00000  $4.03217
2.00000 $71.37858
1.00000  $5.06015
1.00000 $4.62518
2,00000  $0.10686
2.00000  $0.33136
2.00000 $0.13048
2.00000 $0.09832
1.00000 $1,947.00

Subtotal

1.72000 $145.00

Subtotal

8.00000 $145.00

1.00000 $114.62809

Subtotal

Labor

Parts

Shop Supplies
Pre-Charge Subtotal

GST
(5% of $6,605.98)

Total
Payments & Credits

Balance Due

Amount
 $1638
$12.14
$4.03
$142.76
$5.06
$4.63
$0.21
$0.66
$0.26
$0.20
$1,947.00

$4,767.01

$249.40

$249.40

$1,160.00

$114.63

$1,274.63

$3,149.40
$3,141.64

$314.94
$6,605.98

$330.30

$6,936.28
$0.00
$6,936.28



8/22/25, 10:51 AM Invoices
L

i~ Any warranties on the parts and accessories sold hereby are made by the manufacturer. You understand and agree that
, - . we make no warranties of any kind unless expressed in writing. You hereby authorize us to perform the repair work

. herein set forth and to purchase the necessary material and parts to perform such repair work. You agree that we are
not responsible for loss or damage to your vehicle or articles left in your vehicle in case of fire, theft, or any other cause
beyond our control or for any delays caused by unavailability of parts or delays in part shipments by the supplier or
transporter. In addition, you agree that we are not responsible for damages to your vehicle from freezing due to lack of
antifreeze. You hereby grant our employees permission to operate your vehicle on streets, highways, or elsewhere for
the purpose of testing and/or inspection. You acknowledge and agree that an express mechanic's lien on your vehicle is
granted to secure payment of this invoice for the repair work detailed in this invoice.

|

GST 828137562RT0001

I Customer Signature:

Printed Name: Date:

hitps://app.fullbay.com/office/workorder/printRepairOrderlnvoice.html?repairOrderinvoiceld=17965783 313



